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Why do people sprinkle water on roof top during summer ?
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Identify the cell organelle which is known as the power house of the cell. State
reason.

52 T o vt fedt fewn § wif o et & 402

In a tug of war, the rope does not move in any direction. Why ?

4. 9 FIW GEpT F $9 el S TRH et ° SIen S & W e Al uiERe w1 Tm
T 38 9g i 9ffa wifeg

Name the phenomenon that takes place when a few crystals of copper sulphate
are dropped in hot water ? Define the term.

\&/m{hmam%quaﬁﬁwﬁﬂﬁqmm%aﬁ%ﬂmﬁ@mi

A mixture of sand and water is considered as a heterogeneous mixture. List two
reasons.

6./ THICRIZH] AU TFALHEA] Sas § o fagadl § i v wifsu|

Write two points of difference between collenchyma and sclerenchyma tissues.

7. %ﬁ'l@.émiﬁﬂWﬁﬁaﬁwvmﬁWW| ged! T Tag g § 1w
THH1 947 YfismTea ST |

A stone is released from the top of a tower of height 19.6 m. Calculate its velocity
just before touching the ground.

~ FEtE G 9w aeed 87 Fh dma oft | w-ven # A N @ devEs
27 wad = el ¥ gun F T el 9 fafudl 0 seorg sife)

What is meant by organic farming ? Why is it essential to remove weeds from
cultivated fields ? Name the two ways by which yield of crop variety can be
improved ?

9.~ Ferl au 3 27 ael wfifdl @ ey yonterdl # Sox v wife ) Fe % foe w
S T A9 T e fEd T % gee % foe uw s fafan

State difference between broilers and layers in their management. Give one
reason to select one Jersy cow to cross breed with one Red sindhi cow.

()  meets # e @ w3 W e 9 & o g ot 3w oig fam
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Give reason for the following :

(a) Naphthalene balls disappear with time without leaving any residue.
(b) Steam produces more severe burns than boiling water.

(€) Water at room temperature is a liquid.

y/mé:mamﬁrfm:
(i) WEw (i)  39eA
(b)  THE % o v @ F fagw & o § snfera fagia s S

(a) Give two examples each for :
(i) Aerosols (ii) Emulsion.

(b) State the principle involved in separating a mixture containing kerosene
and water.

frefefes se=i =it gie #if .

(a) = sl F avitnEs g el S ST
(b) TR Fe el § g s
()  TIREEM 1 semerdt Sof’ Fw S
Justify the following statements :-
Pty Plasma membrane is called as a selectively permeable membrane.

By  Endocytosis is found only in animals.
t'/Lg.}/ Lysosomes are known as suicidal bags.

}m A1 Fa%h %1 % qot IHE 1 AMiwT o difan)
(b) Wi F ufaefiy 1 gt fafe
&)~  Draw a labelled diagram of the basic unit of Nervous tissue.
‘[,b)/ State the role of Epidermis in plants ?
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Name the following tissues :

(a) that forms the inner lining of our mouth.
(b) that transports food in plants.

() that stores fat in our body,

(d) that connects two bones.

(e) tissue with a fluid matrix.

(f) that is responsible for movement,

15, fafe g dv-feufa Hey % forg weteo sgem #ifa
I;}ei'ive an equaticn for position-velocity relation using Graphical method.
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(a) mﬂamﬁﬁgﬁwﬁ@ﬂwﬁﬁaﬁ%ﬁwmmmﬁﬁl
(b) iﬁﬁ@mﬁmﬁﬁ%ﬁﬁﬁwmwmaﬁwm%l
(c) wﬂwﬁm@ﬁﬁ%ﬁ?ﬁﬁmgm?ﬁﬁ%:

ﬂt for the following :-
% {a)

When we shake vigorously a branch of a mango tree, some of the leaves
may be detached from it.

(b)  Inhigh jump event the athletes are made to fall on a cushioned bed.

(<) When passengers are alighting from a boat the boat tends to leave the
shore.

17. wfa % firar T TR R T G TR WHR O 0 R g €2 T
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How would you arrive at a mathematical formula to measure force using Second
Law of Motion ? Define the unit of force using this formula.

(18, % T 3 diE T e TEeR a1 e A
- (@) TF T H wEEE A R e S
(b) I % & gl S S e
(©) 21 aqai % FerEH A e fag Wl ?
What happens to the force between two objects if : WM
—f{ay" The mass of one object is doubled. r& 2 © .
The distance between the objects is doubled. “&
, &) The masses of both the objects are doubled. viel , bat, e
. X i L'-P“_

gsa“r?ﬂaarrrm5x1m4kg%ﬁmﬁmmaam?.4xmnkg%| 7fe gedt aen <SEA
'&?ﬂ'ﬁfﬁﬁqﬂ3.34x105km%a¥3ﬁ1§ma‘ﬁmmmmaﬁmqﬁmﬂm:
(G = 6.67 x 101 Nm? kg %)

The mass of the earth is 6x10% kg and that of the moon is 7.4 X10% kg. if the

distance between the Earth and the Moon be 3.84 xX10° km, calculate the force
exerted by the Earth on the Moon. (G = 6.67 X101 Nm? kg 2)

20 fafea e qu SiemaesRte § gee Sl
(b) Eﬁﬂ@a%@ﬂ%%?ﬁﬁﬁwmﬁaﬁﬁ%?mmw%aﬂﬁﬂm

(a) Compare mixed cropping and inter cropping.
(b) What is Green Manure ? How is it prepared ? State its advantages.

1Er / OR

(@) ST e (R THET), SiReR au S Yo § o S €2
(b) T ¥ iR 9 Wy I § e R Heitud €2

(a)  State difference between Capture fishing, Meri culture and Aqua culture ?
(b) What is pasturage and how is it related to honey production ?
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(b)

e a1 TSt S & we A S, w9 agn & Tl 5t qe witw

1(a) ~ How does evaporation differ from boiling ?

(®)

Compare the properties of solid, liquid and gas with respect to rigidity

(_—"4and kinetic energy. .

(@)
(b)
(c}
(a)
(b)

()
(2)

(b)

(@)

(®)

(b)

(a)

HYET / OR
feral 9e1el ¥ et @1 ity Fifsrg
ferelt el % fere svaree witads % v arome feew =4 @ 1
Wm%mm%mm%maﬂmml

Define the term melting point of a substance.

For any substance why does the temperature remain constant during
the change of state.

Describe an activity to determine the melting point of ice with diagram.

AT T AT WIHMRY 6, A1 991 SR seige 5 e fa T 5
21 =8 fago & vl g w0 F fore e gr sam &) i faft

Tl W o0 WG| Y 9us oA H A veelh fafy @ sedm w6

S IYHT F a1 o 1 T Amitew e @itag )

293K MM W 36g Hifean File 1 Aqa fawas s % fore 38 100 ¢

St # W T §) A9 S i 9 Fi

You are given a mixture of common salt, sand and ammonium

chloride in the laboratory. Mention the methods of separation you

would adopt to separate the same in the correct order. Draw a neat

labelled diagram of the set up the apparatus used for the method of
separation that you would use.

Lo make a saturated solution, 36 g of sodium chloride is dissolved in
100g of water at 293K. Find its concentration at this temperature.

OR
Freifefad & deof & =it o1 foetam = & faerm @ frg ver fm 2
(iy foza ywm
(i)  Fedea
(iii)  SRARRE &
Frefafad =1 gos S0 % fa sy =t s el fafy =1 = foafiag
(i) B/ 9§ T80 |
(ii) 39 FEH
(ii) = A =+ i
(iv) 9% = 9giedl % feie @ fafem o)
ow does a solution of sugar in water is different from a solution of
starch in water with respect to :
(i) Tyndall effect
(if) Filterability and
(iif)  appearance ?
Name the technique used to separate the following :
(1) salt from sea water
(11) cream from milk
(iif)  iron pins from sand
(iv)  different pigments from an extract of flower petals.
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(i)  HIET UTR SO L0 SN & A o ?
(i)  Torslt g = vfa & fawa & ang =7 #8 @ €, Foge Jv-99 %
99 A& F THHGR UE T W@ E 7
(i)  TE U SV # fo avg &1 wRive 9 9 7@ € W 9 e
T TREE €7 S I &1 g S
(b) T =9 Toamageen ¥ 9HY 89 2 T2 § 0.1ms2 & T guH =R | TiiEE 8
(i) W< =T a9 (i) @ &I e QI A Hiw

(a) Identify the following graphs and answer the questions :

Velocity (v) —>
Velocity (v) —»

o Velocity (v) /—

Time () —> O Time (f) —* Time (t) —>
| il HI

(i) Which of the graphs indicate negative acceleration ? Why ?

{iiy ~ What do you infer from the graph where velocity time graph is
parallel to the time axis ?

(iti)  Which of the graphs represent a body moving with initial velocity
not equal to zero but with constant acceleration ? Justify your

allISWeT.

(b) bus starting from rest moves with a uniform acceleration 0.1m s? for
2 minutes. Find :
(i) The speed acquired (ii}  The distance travelled.
#4941 / OR
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(@)
(b)
(©)
(d)

o5

—
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20-
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The velocity time graph of a body is show in the following figure. Answer the
following questions :-

(a)
(b)
(c)
(d)

(@)
(b)

a5
z
2 201 A B
O 10 20 0 40

Time (5) —
State the kind of motion represented by OA and AB
What is the velocity of the body after 10s and after 40s ?
Calculate the negative acceleration of the body.
Calculate the distance covered by the body between 10% and 30t second.

o wE & fram 51 = e 5
wefafam, e o a5t § 99 99 39 F @ SR 9 owEE F ¥ o=

A A fras sem afds 2 aw =i ?

3 ke, S 1 Uk 9% 9T 12 N & GRT 3c0e @0l 31 8 2

State the Law of Conservation of Momentum.

There are three solids made up of aluminum, steel and wood of the same
shape and volume. Which of them would have higher inertia ? Why ?
What will be the acceleration produced by a force of 12 Newton exerted
on an object of mass 3 kg ?

HYgATr / OR
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26.

(a) I F Tid % 9uH Fran # 1 Fife )

(b) T Al R W = € U GHE AR H IR F U e wrmel & e
T W T T ¥ e # e % oy ST Sk g W 81
T ¥E T 2 ? afz T d € e 3w gum 9 | afa 9F g7 S
fofae |

() 6 kg EoHM & T g W 4m s2 T O I HA & 6T AR g9
& 7

(a) State Newton's First Law of Motion.

(b) Two balls of the same size made of rubber and iron are kept on the
smooth floor of a moving train. The brakes are applied suddenly to
stop the train. Will the balls start rolling ? If so, will they move with the
same speed ? Give reason.

(c) What force would be needed to produce an acceleration of 4m s? on a
ball of mass of 6 kg ?

WAT-& / SECTION - B

st ¥ T2fre  femaz #1 wE ae =1 e & T Yam e e wmn R ¥
(a) orer gien

(b)  Frogg den

()  wM drem

(d)  =HhER dlen

Amit observed the colour of arhar dal (tuar dal) which is adulterated with
metanil as :-

{a) plain yellow

(b) sunshine yellow
(c) chrome yellow
(d) brilliant yellow

sfaea 3§ 99 TrEAeEt A, B 991 C Y% A 2mL WisH % free & T foran qen s
TF HAYE 3 ge AEEH faaaT w1 Twi | Tt A 99 B # el Hien T g g3 |

A weferd] # e & T 9w ¥
(a)  =EE, T, A (b) =TEW, 3, T
(©) &, o, 9 @ 3@, =EE, I

Aditya added 1 or 2 drops of iodine solution to three test tubes A, B and C
containing 2mL of food extract sample each. A dark blue colour appeared in test
tubes A and B. The correct order of food samples taken in the three test tubes is :
(a) Rice, dal, potato (b) Rice, potato, dal

() Potato, dal, rice (d)  Dal, rice, potato
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27. & faenft 3 HW F AUEE (30°C) WAk H S 9 B0 % e sy sraferm 1

oo o ah § wy i Aot S9d gmiiex gam 1 od daw

(a)  YHIHIET 1 YR 1°C T 7% SRR fian 3, aoovsm fer & s

(b)  THHE RRE ¥, 0°C TEEa  qeavEn W 9% faer ¥ o ot fier wa

(€ IFH A fren @, oo SR & s e 1 w5 ¥, doee ae e
EiGid

(d) A e B, 0°C % wgEa € @it Faw aa o fer wa & o 9w 9 ain
S a1 e )

At Toom temperature (30°C) a student sets up an apparatus to determine the

melting point of ice. He takes a beaker filled with ice and dips a mercury

thermometer in it. The correct observation is

(a) Mercury in the thermometer keeps on falling till reads 1°C, it remains
constant thereafter.

(b)  Temperature falls, reaches 0°C, then it remains constant even after the
whole ice has melted.

(c) The temperature falls initially but begins to rise as soon as the ice starts
melting.

(d)  Temperature falls, reaches to 0°C and remains constant only as long as
both ice and water are present in it.

28, wmﬁ%?ﬁﬂﬁ%h@%ﬂﬁﬁﬁﬁﬁ@ﬁﬁéﬂ%ﬁﬂﬁaﬁ 1
W T HA ¥ GE AR a9 e o 9% Wik wxar @ foe wia =0
HYH

(@ s dawmwd

(b) SFEfFAaETdagEE

(c) Tt ot iy & wre 2, e SR & e €, aruveE fem @ w2
(d) T H-R S 8, dervEmE for & s ¥

A student takes some water in a beaker and heats it over a flame to determine the

boiling point of water. He keeps on taking temperature readings. He observes

that the temperature of water :

(a) Keeps on increasing regularly.

(b) Keeps on increasing irregularly.

() First increases slowly, then decreases rapidly and eventually becomes
constant.

(d) First increases gradually and then becomes constant.

29. S, WM THE Tl IR FeREe F foan § ¥ 59 v w1 9w w9 F o 1
fu e Wi F e s/ o wew gy T wwm aw
() =g (b)  HIERO FH
(c) =it sEnREs (d)  SFT =% 99 EIEY TEe
In an experiment to separate the components of a mixture of sand, common salt
ammonium chloride, the component which will be removed by filtration is :

(a) sand (b) common salt
(c) ammonium chloride (d)  both sand and ammonium chloride
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30. mﬁﬁ@wﬁmﬁﬁwﬁﬁ%w%aﬁw,mwwﬁamw@ 1
Wwﬁaﬁ,aﬁaﬁ%lﬁmﬁwmﬁmmﬁlﬁmﬁmﬁw
Ry faerdd WIe B 9E ©
(@) = YRS fAgm
(b)  TIHR T I

© &

(d) e e A
The substances namely chalk powder, common salt, oil and a few drops of blue
ink are added to four different beakers containing water. The mixture is stirred
well. A clear and transparent solution is obtained in the case of :

(a) chalk powder mixture

(b) common salt mixture

(c) mixture of oil and water

(d) blue ink mixture

31 Wmﬂ@ﬁwﬂwéﬁ%ﬁhwmm@m%amaﬁﬁﬁmm% 1
g Zad T B A & S FEA SEEehRe § ga 96 ¥ 98 A 991 B F THAH T
e § T w & frEd Th R AB T 1 Wed A ¥R B 7u1 SR AB ¥
HHI: ¢
(a) A - TTHIISSY, B- @6 H T, AB - AT FTRRS
(b) A -SRI g, B - GO YIS, AB - HATT HEHES
(c) ﬁ~mm,ﬂ—ww,ﬁﬁ-?ﬁ%ﬁﬂ?ﬁ
d) A - % IO, B - 3T GEHEE, AB - FOHR TS

A student takes a substance ‘A’ which is attracted by a magnet and reacts with
acids. He takes another substance ‘B’ which dissolves in carbon-di-sulphide. He
heats A and B together in a test tube to form product AB. The substance A and B
and the product AB are respectively one:-

(a) A-sulphur powder, B - Iron filings, AB - iron sulphide

(b) A iron filings, B - sulphur powder, AB - iron sulphide

(c) A - iron sulphide, B- sulphur powder, AB - iron filings

(d) A - iron filings, B- iron sulphide, AB - sulphur powder

/]32. @ﬁﬁwﬁﬁszmmﬁwﬁmmemﬂm 1
der fega o

(a) UF warsy foeraw i g

by AR H S faeTa STer- ST HRa S T

(€  Tama =1t e @ o ¥

(d) U Hihe I Tl WS e &

Rahul added 2?mL of barium chloride solution to 2mL of sodium sulphate
solution in a test tube and observed that
(a) a clear solution is obtained
(b} two solutions form separate layers in the test tube
(c) the solution turns pink
: /Ld} a white solid settles at the bottom.
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33.

35.

T A €’ F Ui 3o Hewt TR F faaw w1 gagd Aot F 506 el 3O 9 76
F9 T8 % forg i foran ) 399 saga el w1 So1 e a3 omi SEeEETEES
FI TR A=l UFR F feamEn Su BRI a1 = g Hyea: 9 guie T sgER

(a) I (b) O (c) 11 (d IV
Rama heated a mixture of iron filings and sulphur powder in a hard glass test
tube for some time till a grey black product was formed. She cooled the test tube
and then added 2ml of carbon-di-sulphide in it and then shook the contents of the
test tube. The observation made by her is likely to be as shown below :

The corredt observation is :
(a) I (b) I (c) I (d) v

59 U wael § 3 FiEehe % bRl 1 39 ™ e s & @ 9 3w fe
ST & o weeTet # T g srEe

(@) BWETHETME (b))  Ho T F A AR

(c) =8 @ E (d) | &1 w8 R

When solid copper sulphate crystals are heated strongly in a test tube, it is
observed that the residue left in the test tube :-

(a) turns green (b} turns black
(c) remains blue (d) turns white
A& e iRt o1 98 e P
R s W O o 28 J -
; et st A
B i i ST
| .- i It v
(a) 1 (b) I (<) II (dy IV
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The correct diagram for human cheek cells is :-

1 i 1k ™w
@@ 1 b I (c) I (d IV

36. TS T fereel! Tl HIERS] S T8 i o §

37.

m -
wibv it ' : o
h.___,_..] :
Wi e e o r
Wi e L é; . [
L s ‘m':;_;" SRS i
b = Sy i
1 w I
(@ I (b) I (€ W d IV

The correctly labelled diagram of cells of an onion peel is :-

il
el e

R -
Lol ma™ = ¥ . - g
& -
Consorsioin R %

il -

..u.'h'!‘i.,;..! |"."m‘.l-:"'.“
o b & @ S
- 1il T
@ I ) 1 (€ I @ v

T e HIfEFet & eur SR 5E F far R s A Ru e €
(i) e e Ft @ ¥ gree e W U weewe | S|
) e WU g frewiE w5 e

(i) S 21 7 95 HYEi = & SeEl

(iv) TS 9T 99 SRleAREs e | Feen wE|

= T 1 e R B
(@ i ii, i, iv (b) v, i, iid, i
(¢}  ivi ii iii (d) i i, i, iv

Given below are four steps for preparing a temporary mount of human cheek
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cells :

(a) Taking scrapping from the inner side of the cheek and spreading it on a
clean slide.

(b) Putting a drop of glycerine on the material.

(c) Adding two or three drops of methylene blue.

(iv)  Rinsing the mouth with fresh water and disinfectant solution.

The correct sequence of these steps is :-

@) i, ii, iii, iv (b) i, i, iid, ii
()  ivi, ii, i (d) i, iii, i, iv

38. W T @ i w1 oaren oren e sav e R S EEd T ae d . 1
(@) Ha SN, 496 faf, e e TE ;

(b)  ifEa wifvE, Taet fufs, siausifm e T8
()  ua wifyrn, gaei fufa, sl sfauesifos ©F
(d)  Sifam FIER, gacl fufy, afus oiavsniive =

The features that best describe the cells of parenchyma tissues are :-

(a) Dead cells, thick walled, no intercellular spaces.
(b) Living cells, thin walled, no intercellular spaces.
(c) Dead cells, thin walled, large intercellular spaces.

Jdr  Living cells, thin walled, large intercellular spaces.

39. ehTel W UIT S AT U9 A 1 Wl S veif 1
ol et . .
A
PR e D W fzu s
@ A (b) B € C (d D

Identify the correct diagram of the muscular tissue found in the skeleton.

A
¢ C 0 S D All of these
/\4 i i o
S Epee A b) B @ € G
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40. UF O 3 il A a9 B § vrata fmfd e ¥ @i A 7 FEEF e W50 1
ml, #TEfE e U St B & 50 mL FEiE Yioa 99 §) $9 99 9een ¥ A
EXGIEAE
(a) = B anien At A I Rrwi s g & €
(b) e A T men S B fenfid s gl g €
(©  2F sl A Ao B =t frufd o WA wer g €
(d) = A TrwieEl faerge E wel |
A student puts five raisins each in two beakers A and B. Beaker A contained
50 mL of distilled water at room temperature and beaker B had 50 mL of icy cold
water. After some time the student would observe that :

(a) Raisins in beaker A were more swollen than those in beaker B.
(b)®  Raisins in beaker B were more swollen than those in beaker A.

\(9/ Raisins in both the beakers A and B were equally swollen.
{d)  Raisins in beaker A did not swell up at all.

£1. UF 3R © HE g SRR ve) 1 i A 99 W @ g #1 UH-UE S 1
fafim ur aiFm § @ W) W & R 99 FAFGR A g1 39 T 37 F fag
ArayTE =FE 99§ geY e w0 & A gw i e o € s sl
1 i 23 3 o safeerom et =61 ey am g o aled § W T e
(a) 40U ¥R (b) 457M ¥R
()  30T™ 9 (d)  357M YR
A rectangular wooden box open from one side is lying on a horizontal table.
Different weights are kept in the box one by one. To establish relationship
between weight of a box with minimum force required to just move it using a
spring balance, it is observed that the force required to just move the rectangular
box is maximum when we put a weight of :

(a) 40 gwt. (b)  45gwt
{c) 30 g wt. {d) 35gwt

4. frd a@d ¥ TeF F IR a9 55w T 3 F A e aa § den wite w9 F 1
o s fomme 3 vedt W uR F TREF ¥ o 5w A TR 3R e W OW/2 R 39
2 W N TEER W # e e fag e awmest § 9 W o aade fandt &
e | #@ = ?
@ A ¥ fou savas 9@ ed F WR W R T w5 R
(b) W ¥ F o Taves 9@ A9 e & R S0 R T
() T ¥ fom snavas e 9 e % HR E IR O § %8 2

(d)  nfd &% % fou snewEes ge 991 [EF F R F S O § Sl 8 3 5
To establish relationship between the weight of a wooden block and the force U‘)
required to make it just move, a student first measured the force required for a A5 &
block of weight W to move. He then repeated the experiment after placing a t.? ', \J?f
weight W/ 2 and then 2W on the block. Which of the following statement is lik 9, I

to agree with the conclusion of the student ? >} J —
(a)  The force required by a block to just move does not depend on its wej W/

(b)  The ratio of force required for making the block just move and its .

is a constant. _..}U
(¢}  The ratio of force required for making the block just move and its wel §
is less than one.

(d)  The ratio of force required for making the block just move and its weight
is more than one.
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